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Activity 2041. Design Real Use Cases

Use Case withdraw

Actor User

Purpose AR AZHO| e =2 SSHCt

Overview AMNEXZEATM? |2l 23 HES FEL &3¢ AZE
YEBICE A7t SIS FAUS Yol HDBCF HE
4% a3 Yot O = AEXIL =8 A1 Mt

Type Primary and Essential

Cross Reference

System Function R.1.2

Pre-Requisites

ATMO|| = ot A x7F 2400 Azt 271 A0{OF BHCt,

Typical Courses of Events

(A):Actor, (S):System

1.(A) User?t withdraw HE2 FELt
2.(8) Azt ID ¥ 2tHS ot
3.(A) Usere AZHinputlD) & 2 #3HC}

4 (S) AccountIDet inputlDE H|u =+QIBHE}

5.9 &2 3HS S}
6.(A) 22 Y% (inputMoney) & Y =stCt
7.(S) AlEt password Y3 stHES S0t

¢
8.(A) BIER 3 (inputPW) & S,

9.(S) Account.password®t inputPW7t € X|st=X|

10.(S) Account.Balance®t inputMoney= H| i $HCH
11.(S) Account.BalanceE inputMoneyt&
LA ZICE

A7

12.(8) ATM Tt (TotalMoney)
13.

=
(S) ATM Zt X|HE TS ZaAlZICH

14.(S) Hel = AFEAL| AZF £t (Account.Balance)E

sa3ict




Alternative Courses of Events

Exceptional Courses of Events E1: HRE AZE YUMo HAIX|IE STt
E2: H|Z2HS It EF E2 02 HAIX|E St
E3 Azt Tt S HE 42 ol HAIXE
Z ot}

Use Case deposit

Actor User

Purpose AHEAL A ZHO| =2 |3 THCt,

Overview ALEXIZE ATMZ|2| 28 HES FE21 Ya2 AZE
UL A AL Y SHE 717|0 22T ATMO|
FUE M, O d=0hF LHE AZe T E
S7HAIZIt

Type Primary and Essential

Cross Reference

System Function R.2

Pre-Requisites

ATMO|| = ot Ax7E 2400 Azt =271 A0{OF BhCt

Typical Courses of Events

(A):Actor, (S):System
1.(A) User?t deposit HHES FEL
S Az D €8 S St}
3.(A) Usere AZHinputiD) & & 3tC}
4.(S) AccountIDet inputlDE H|ul 2QlstCt

-1 d
6.(A) 8 A (inputMoney) & & = BHCt
inputMoney2ta S 7+A|ZIC}

S7HAIZICE

7.(S) Account.BalanceZ
8.(S) ATM £t (TotalMoney) &
9.(5) ATM Z} X|HE Tt E F7HA|ZICH

10. (S) 2l = Azt EtH(Account.Balance)2 HEA|DHCL.




Alternative Courses of Events

Exceptional Courses of Events

E1: 2XRE AZE YL W o AKX S Sttt

Use Case remittance

Actor User

Purpose AL AL A Ze| =8 CHE AFEXL AIZtE &3 etrt

Overview AMEXZE ATMZ(C] &3 HES T2 AHIQ| AEE
UBICE AZ47t ORI S Tt 3ULS
Yerh £3 A XD 5% Bt SI3Y=L)
Ho®™ &3 A Zte| £tnTt H=0tF FIHoIC}

Type Primary and Essential

Cross Reference

System Function R.3

Pre-Requisites

ATMO|| = ot Ax7E 2400 Azt =27 A0{OF BHCt,




Typical Courses of Events

(A):Actor, (S):System
1.(A) User?t remittance HEZ +ECLCt

S) Al D €8 =tHS SEotC

—

—_

)]
>
-
()]
o
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oy
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HinputD) & 2 = StC},

inputlDE H| W BHC},

DI_I"‘
12

At inputMoney) = & &St

1 (Account.Balance) 2t

3.(S) User?| &%t (Account.Balance) &

14.(S) A2l & AlZF Tt (Account.Balance)=S HEA|THCT.

Alternative Courses of Events N/A

Exceptional Courses of Events E1: HRE AZE YHYOH oY HAIXE S0t
E2: HZHD I E2 42 ol HAIXIE S}
E3: &5 AX7HE Z

—_ -

O

XE 4% o2 HAIXIE St
=1
O

HELCE HZ F2 0|2 HAIX

m
N
o
r
k1
d

=
=

T
o, JE
%
_|T|_

Ap2| Rlof Axtoll= S5 4+ ULt

Use Case

view_account_detail

Actor

User




Purpose AHEXHZE ot Al x| Tt Z H O FLC}

Overview AERI7F A Zt x| HES F21 XA 9| AXHE Lot
AZt7h =olx|H UHE AZtel TS HA|THT}

Type Primary and Essential

Cross Reference

System Function R4

Pre-Requisites

ATMO| = ot A X7 2400 AZt 271 UAO{OF BhEt,

Typical Courses of Events

(A):Actor, (S):System
1.(A) User?t view_account_detail HES +2Ct

2.9 Azt ¢ stHS SHOC

5.(S) A Xt password Y= 3HS EHTICL
6.(A) HZEHZ (inputPW) & & HtCt

4.(S) Account.password®t inputPW7t €X|sH=X|

stolstrt
5.(S) &0l0| | Account.BalanceE 2HHO| EA|SHCH
Alternative Courses of Events N/A
Exceptional Courses of Events E1: HXE AZE YHUM o] HAIXE S0t
E2 H 2SI EE 42 0 AIXIE EEstCt

Use Case Random_Jackpot
Actor User
Purpose =3 7|52 0| 8%t= Yoo ALEXI0|A =712 50HS




Overview OOAI7}F =[H ATMZ| 2| HEM &5 40| A FIt2
STl E=2X| FHTICE e =M ALEALIt
EoAI0 5TRO| F7t2 E5E L

Type Primary and Essential

Cross Reference

System Function R.1.1

Pre-Requisites

N/A

Typical Courses of Events

(A):Actor, (S):System

1.(9) ATME| Timer?t OOA|I7t &E|H Y El= =ME
ZHESHA| M EHSHC

2.(8) User/t =2 EaW2M s User?t s =A{2]

ALBAFOIX| Bholstrt

Alternative Courses of Events N/A

Exceptional Courses of Events N/A

Use Case manage_ATM

Actor Manager

Purpose 22X ATME| Tt E FIHSHA L 8 == QUCt

Overview ATM2| TotalMoney?t ¥& =& 0|52 ROtX|H
ZE[XH7t TotalMoneyE F7t5t30 a7t A +=F
0|2 2 ROLX|H TotalMoneyE #HCt

Type Primary and Essential

Cross Reference

System Function R.5

Pre-Requisites

N/A




Typical Courses of Events

(A):Actor, (S):System

1.(A) Manager?t manage HES +ECt

2.(9) E|X}ID YHHES ZHotct

3.(A) Manager?t &2 A} ID(inputlD) & = SHEt
4.(S) ManagerlD2t inputiDE H| il 2fQlstCt
5.(A) Manager?t &2| Xt Password (inputPW) &

el

18]

-_—

Ct

—_

(S) ManagerPWe inoutPWE H|u ZHQIstE
(S) 2210 ELIH Manager?t 2t & Ttno| H2g=
EE SiC}

(A) Manager?t 2tH|E Tt E FIISAHLE #HCH

(S) TotalMoneyE A4lotCt

S) Count50000, Count10000, Count5000, Count1000

(
olHE NS Ailetot.

®)

g0 O

rot

6
’
8
2t

Alternative Courses of Events

N/A

Exceptional Courses of Events

E1MIDLE MPWZt 2R E B2 ofl2] HAIXIE S SHCh




Activity 2042. Define Reports Ul, and Storyboards
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Activity 2043. Refine System Architecture

System Package

Timer

MoneyCount

-cal: Calendar
-JackpotMum: int

-Count50000: int
-Count10000: int
-Count5000: int
-Count1000: int

System_Control

-TotalMoney: int
-inputlD: int
-inputPW: int
-inputMoney: int
-UserCount: int
-inputMenu: int
-inputPOM: int
-input50000: int
-input10000: int

-input5000: int
-input1000: int

User Package

Account Card
-ID: int -ID: int
-password: int -password: int
-Name: String
-Balance: int
|
DataBase Package
Bank Manager
-Name: String -
-BankCode: int 'manﬂg‘?rg)wlﬂ_t )
-ishAccount: int -Manager] in




Activity 2044. Define Interaction Diagrams

1.withdraw

.inn:r-cﬁnn vithdrae )

R

Wser: Actorl
: 1: input_menui)

| MonsyCount

Il

S
3 2 display_withdrasy_menu

3¢ input_IE)

foop (1)

4 :emhlb-:inpctlb:inl:li

S : checkiD(inputiDiin) :

% checkediD

: _npti:ll:l J

loop

i/

[sIo=fal 1 searchtadinjinpuiCin]

checkand DinputiCnt}

F 8 checkedit

10 checkedD’
=TT il checkedi | o
12 : display_input_Money T :
{13 input_amour) H i
:E"""""""'"'"“"'“' apt ishecoun ]
i 14 display_npul_PW . T
i i unt=1
1t P ; lisheeaunt=tnue] ;
1M :I'beckPlerlpt.lPW:l@ . 17 : checkEWiraule |r|(]-__-
i =730 checkedPW
apt isCard ) 16 : searchCani(mpul®Wing | i
: MputFWiIng} H
r? : checkPWAmpulPwiinth:
[isAccount=false L
A ——
[ S CheckedPW : 21 : checkedPW
£ 23" checkedPid L
-1 alanca]) : :
25 - balanceCounb{inputMany:int) i :
H balanc=Account{inputhd Hit] H
27 ¢ chegkBalancefinputhoney int)
e s 207 checkedBalance

' opt isUpdate J

[isUpdatz=true]

L L

ru:EqﬁabeIjnp.l!.laney:i'n,irpul.murt:inlli'rélﬂﬂu:in

1

355 T dipiay, Balanca. e Ly




2.deposit

|interaction deposit

% System_Control |unrq:.uum| | Bank |

User: Actorl : ! :
1+ input_menuf) i i ;

i 2 : display_deposil_menu

i 3t 100 - 4 searchiB{inputiCrini; loop (1 ] :

: : & : checklDfnpulDiing

- q'""'ﬁ':'éﬁé':k'c'.dl'ﬁ""".'u

: i [optimn J f

H HR oop (1.7} /I

: ; lib=talse] | chCandiDimpai-ing] | 8 checkCamiDnpuiCrimy
: e Checked

i i
i 9 Y6 checkedin i
i i i
: o e T v S !

12 display_rp_Momey | i : i i

| | | | |
E 13 - input_amount) : H H :
{ligennrcs : | | |
H 15 - balanceCounb{inputhdongy:irt . H H
H v H H
g : halan:m:aurl.linpﬂﬂmq:iél:l I
: : !
i i i
: s T 17 : checkedBalance H H

aptiies | | | |

[fsUpdate=true] : ; ; ;

loop i 2 s ATMBdlshcetipdateg .,..ulllnnc.-,-:irt.inpc.l:m.rl:irl.im:;lpml:irl} . . .
il i - |

i ; i i

i ; i i

"Cm  display_balance_resull : : : :
i i i ; i i
i i i i i i




3.remittance

8 checkedid

 check PW(npulEving)!

[isAccount=lalse
P ——— ]
| i

checkCardIDfinputiCointy

- checkCandl Biinputl B:int

Eﬁrwleq':iriJ

17

 ER——

loop (1. )
i)
chag

il
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a
il

1

&3

[ Checkedin

chackedPW

T
BT ¢ sparchiCand Cfmputicy
F-'H

& : checklDfinputlCuing E
ap:

checkedFW
7
T30 chackedBalance

[= 20 - checkedil

15 : checki Dfinpuil D:int)
a2
balance=Ace

.ﬁ-

L 2T checkPWinputFaing)

26 : searchEanifrpulPing, |

= searchCard ID{inputl Cvint |

¥ - 4
P

[i;.lh:mut:uu]

 I—

w....

opt ishccout

loop (1. ]

ioop (17}

fisiD=false]
opt =i J

opt isiD
[F
apt isCand
|
i

ing it ging

il B el
11 : checkediD
21: checkedil
33 : checkedPW

i
YT oo e ey o | P SR Ao S

14 : searchiBinpuiD:int
e, inpul

4 - searchiD{inputiCoint)
26 - checkPW inputPW-int)

35 - balanceCount{inputhangying
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4.view_account_detail

interaction view acoount_detsl )

A

User: Actorl

g 1: input_menul)

N

3¢ input_ 1G]

- display_view_account_detsil_mepu

13 ¢ input_PWW)

4 - seachiB{inputiDoint)

loop 17} ]

127 display inpot PW

S

14:

% : checkiDinptiDiint)

ke snsnusnmssnanansnnninns

& : checkediD

| opt isll J

[min=talse]

loop L7}/

= searchCard ID{inputiCrind] o

bef- e

9

- checkCardiD{nputiComt

checkedD

T P T AL

11 checkediD

checkPW{inputPW-int)

I

apt ishccour ]

[isheoount=tre]

15 : checkPWirpulFaint)

S

=5 charkedtw

apt isCard

[isAccount=Talsd

17 : searchCand{nputPcing

=50 chackedew

N|=

19

checkedfW

- checkedPW

opt ischeckedPw J

22 : gethccountBalance()

[1scheckedPi=tue]

F

26 balance

IO




5.Random_Jackpot

interaction Random_Jackpot )

System_Control Timer

1: start()

cktime()

opt ischecktime /J
3:

|updateackpotMumi)
[ischecktime=true]

4 : input_PW{)

—
e

5: checkJaﬂkpnt{UserCnunt:i;[

6 : checkedlackpot




6.manage_ATM

interaction Manage_ ATM )

X

Manager: Actorl

' 1: input_menu()

System_Control

Manager

L T

2 : display_manage _menu

3 : input_MID{)

?f' 6 : display_input_MPW =
; T @ input_MPW() :

“f' 10 : display_input_POM ;
11 : input_POM()

13 : input_amount()

ot

{5: checkedID :

: checkedPW

heckPW{inputPW:iht}

MoneyCount

' loop (4) /J

14 : ATMBalanceUpdate(inputMdney:int, inputcount:int injputP OM:int)

T

‘E‘E:lﬁ . display_balance result




Activity 2045. Define Design Class Diagrams

MoneyCount
-Count50000: int
-Count10000: int
-Count5000: int
-Countl1000: int
+ATMB int, int, inputPOM: int): void
T Account
-ID:int
+Hbs/Have -passwaord: int
1 -Name: String
Bank -Balance: int
- an
Timer System_Control o = + | +checkiD(inputlD: int): int
—onl - -Name: String +searchCard|D(inputlD: int): int
I Calend. TotalM it 1
—f]::ckpzlil"urzrm( m: alMoney. in _BankCode: int le—— | +checkPW(inputPW: ini) int
- -inputPW: int -isAccount: Boolean +HasHave | ooarchCard(inputPW: int): int
+start(): void Snputioney: int —scarchiD{inputD: inl) it +balanceAccount(inputhoney: int): int
+checktime(): Boolean -UserCount: int + | +checkPW(inputPW: int): int +checkBalance(inputhloney: int): int
:zﬁgxiiiﬁkz?(ﬂgg&mdint]'Baulean +HasHave | -nputMenu int +halanceCount(inputMoney- int)- int +getBalance(). int
P g \\ inputPOM: int ac/Have | *g€tAccountBalance(): int )
T -input50000: int 1
-input10000: int
-input5000: int +Has/Have
-input1000: int

+input_menu(): void
+input_ID(): void

+input_amount(): void Card
+input_PW{(): void

: Dt
::;F;dua“ﬁ%?)"i% int -password: int
+input_POM(): void +checkCardID(inputiD: int)- int
+input_MPW(): void +checkPW(inputPW: int): int
.
+Has/Have
1
Manager
“ManagerlD: int
ManagerPW: int

+checkiD(inputlD: int): Boolean
+checkPW(inputPW. int): Boolean

Activity 2046. Design Traceability Analysis

input_MID():void
input_MPW():void
input_POM():void

£ ’,:‘ 4.input_amount A
/

~a S.input_RID

v input_menu():void GUI_Interface
_w input_ID():void
» jackPot » 1input_menu x input_RID():void
5 e i » input_amount():void
» Withdraw < "4” Z.Tnput_ID \ - iniut‘PWQ:voi(«)i
» deposit </ % 3input PW o AR updateBalance():int
i : v
v
v

view_account_detail _, view_account_detail

manage_ATM ——» manage ATM &——» 6.input_MID start():void Timer
5 : checktime():Boolean
Ty 7.Tnput_MPW updateJackpotNum():void
4 8input POM checkJackpot(UserCount:int):Boolean
searchID(inputID:int):int Bank

checkPW(inputPW:int):int

P yiint):int
\ getAccountBalance():int
checkID(inputID:int):int Account
\ searchCardID(inputD:int):int

¥ checkPW(inputPW:int):int
searchCard(inputPW:int):int
balanceAccount(inputMoney:int):int

heckBal. int)int

|\ getBalance(:int

\\ checkCardID(inputiD:int):int Card
\ checkPW(inputPW:int):int
| ATMBal T T

Y p P yintinputc  MoneyCount
ountint,inputPOM:int):void



